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w are two statem.en'ts L

¢I : Diploid varieties n
apple aré self-fyuit.ful. o

Statement-ﬂ : Triploid \{arlenes
in apple are self-unfruitful.

In light of the above statemeni}:ls,

choose the correct answer from the

Given belo
Statemen

i iven below :
(()f)twl];g:h Statement-I . and
' Statement-II are false.
(2) Statement-I is true but
Statement-II is false.
(3) Statement-I is false but
- Statement-II is true.
(4) Both Statement-I and

Statement-II are true.
(5) Question not attempted

Aiillary raceme - inflorescence 1is
found in which variety of bael ?
(1) Pant Aparna

G (2) Pant Shivani

a
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(8) Goma Yashi

(4) Thar Neelkanth

(5) = Question not attempted
‘Durgapura Kesar’ is an important
variety of —

(1). Water-melon

(2)  Cucumber

(3) Bottle Gourd
(4) Musk-melon
(5) Question not attempted

Which of the follo

highest food v 1 i ; e
iy itoo alue 7 (Caloneg/lOO g)
(2) Mango
(3) Guava
(4) Bael -
(5) | Question hot attempteq
Enllmlicglll-lf;lfotli I1":he following vegetable
D) Obe S ant to salt ?
% Radish * |

itter |
4) Tmmelte:()?r ourd

(5 oo 5
) Questhn__:%}ot attempted
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m. At what stage can
be harvested for o2

When all puds ar

{r.\.“r:[

e (1)
mature,
unopened
At the bud initiation stage -

When the first bud shows

colour

o (5) Question not attempted

. |
¢l

8.., Among the following, which source
¢4 of resistance is, donor for salt
tolerant trait in tomato ?
1 L. Hirsutum
(2) L. Peruvianum
3 L. Cheesmanii
. 4D L. Pimpinellium
- &1 (5) Question not
o < attempted °
9.;-, For which digest;
:w Isabgol often recc)mve condition is
** (1) . Constipation mended ? _
(2) Gastritjg
(8) Irritah)
_(IB.’_S) e  Bowel Syndrom
(4) Acid reflux .

5) Questi
®) estion not attempte
d
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Which 18 double cross- hybrid

ngo ?
(f)nety ](;f Iguprabhath

2 Amrapah
2 Arka UdaYa

Arka Anmol
Question not attempted

(4)
(5)

of

Jantar-Mantar variety rose

bears which colour ﬂowe: ?

(1) Pinkg ¥, (2) . Red

(8) Yellow (4) White

(5) Question not attempted

Match the following in accordance

to ethylene evolution (Secretion) by
using codes :

A. Verylow.- i. Pomegranate
B. Moderate. ii. Banana
C. High <- iii. Papaya
D. Very highesiv. Sapota
Codes : |
A B C D
Wi v R
B G S (R (T
om E Ry &

(5) Questmn not attempted

fruit has
content ?

Howmg fru1ts, which
minimum  moisture

(2) Banana

(4) Date Pa]_m
uestmn not attempted

Which
techniqueone ] of the following
unwanteq oo 4sed to remove
Ower buds to get
ers in rose ?

1) P Sslﬁw
& Dishudding D promn

®) Qu g‘*&Q
Questi o0 Not attempted
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ive n en may
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Mu i ici is the
Mutagenic efficiency th
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at a given dose of mutagen

employed. _
(4) Etlf;gl methane sulphonate 18
an important base analogues
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(5) Question not—aﬁtempted‘—"—g
Benzoic acid is the most effective
against : ' :
(1) Virus 's {V\d
(2) Bacteriay\—
\@) Yeast ie
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each bivalent _mosom o n,
poles ? ves ¢ b ?
L) First, Aﬂaph Posijtg
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(3) 64 (4 8
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21.
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19 IQuantitative characters are those

characters which are

(1) Governed by oligogenes
«(27" Governed by polygenes
(3) Exhibit dis-continuous
distribution
(4) Less influenced by environment
(5) Question not attempted

Which one is the correct cross
combination of the origin of an
amphidiploid Brassica Juncea ?

(1) * B. napus x B. nigra

=2~ B. nigra x B. campestris

(3) B. campestris x B..oleracea
(4) B. nigra x B. oleracea
(5) Question not attempted °

Growout test of seeds is conducted
to find out

b Gene’t_;ic Purity
(2) Germination Test
(8) Seed Health Test _

~ (49 Physical Purity

(5) Question not attempted

Which one of the fo
correctly matcheq -

rotandry _ - Pearl millet
) Cleistogamy :

llowing is not

' - Groundnut_ -
(3 Dioecism . _ Papaya .-
Eg; Monoecigy, _ Cucumber—

uestion not attempted

gﬁ;vb any - different phenotypes
€ Produceq in F, generation

' gf a trihybrig cross with incomplete
( B@m&nce 7 3
16 i 3
4 2
(g) 64 _’ \(‘2/ 87
) Question not attempted
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The precurser =
auxin in plants is
(1) Tyrosine o s
(8) Valine s
5) Question not attemp .
g g is co-factor

1 the fo].lOWin . ?
Which yme Pyravate Kines
or Enzy’ ) Mn

o (B
() Mghrr o gt

3y  7ZnZ* .
55; Question not attempted

h one of the following

amino

is
Whic
aldehyde sugar ?

(1) D-Xylulose

(2) D-Mannose

(3) D-Fructose

(4) D-Ribulose |

(5) Question not attempted

Which of the following nucleic acid

has a left handed helix ? 4
L&)~ Z-DNA

(2) H-RNA

(3) A-RNA

(4) B-DNA

(%) Question not attempted

chromosomeg ig known ag

: 2) Tri
(3) Nullj ( LiSomy
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30. InC,and CAM plants, the activity
of PEP carboxylase is inhibited by

%ﬁ _Malate

(2) ‘3.Phosphoglycerate,.
(3) Rubisco>
o @ Glucose-6-Phosphate
«j] (5) Questionnot a_ttempted
31%:‘} The common pathway in both
aerobic and anaerobic respiration is
< \ Embden-Meyerhof-Paranas
pathway
Tri-carboxylic acid pathway
(3) Alternative pathway :
e \5 (4) Warburg-Dickens pathway
& ﬁ (5) Question not attempted ~ '

32 i The hormone which is synthesmed
by the seed embryo and released
into the starchy endosperm via the
scutellum during the germination
of barley grain is

¢4 (1)  Gibberellin

ke Cytokinin

EQ% Ethylene

9 (4) . Auxin

- & |
(5) Question not attempted

33. PB-oxidation takeg place in
(1) Cytoplasm
2 Chloroplast
S (3) Nucleus
Mitochondyig

%}_ (6)  Question not attempted
=
34 The protein part of the holoenzyme
is called gg
(1) Coenzypg
Q) Poenzyme
@) -Isoenzymy,
(4) Cofactoy
(5) Questioy not attempted
. 02
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35. Germinaﬁon
seeds of the tomato ¥ s

(1) Negative photoblastm

| (2~ Day neutral

(3) . Short day P
(4) Positive photoblastic
(5) Question not attempted
Seed Dormancy in fleshy fru

caused by —
(1) Immature Embryo

(2) Germination Inhibit
(3) Specific Temperature>"
(4) Hard Seed Coat

(5) Question not attempted

its 18

ors’

The essential distinction between
long-day and short-day plants is that
(a) Flowering in LDPs is promoted,
only when the day length
exceeds a certain duration in

37.

TS B 24 W Hh A @
Tt el fovering
(b) Y e dui A g o A romotion of flowering 1n
s . SDPs requires a day length.
ISIi?:FQT T e 2 v9 fF f @=rd that is less than the criti
- Trutfca shifoes s A FA A R | day length. e acal
W ) EAEEE O (é) Only (b) statement is correct. :':
) AF (a) 3R () TEE I (2) Both statements (a) and (b
@) S H (a) 3 (b) T & 3) Bot c ol ®
@) ¥ (a) TR TER | o a::mstements (a) and (b)
®) S S | | Eg; Only (a) sgt;ai:ement is cor
-G S e uestion not attem;;ggrreu' 3
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Ranikhet di5645¢5 in_poultry i3
an

caused by
Virus
parasitic disease

Bacteria
Question not attempted

: o o
. .1 one of the following pairs o

zggzls ;s not correctly matched ?

(1) Sonadi-— Sheep

2) Bhadawari — Buffalo

(3) Barberi— Goat'

(4) Minorca — Swine

Question not attempted

The open floor space requirement

for an adult cow is

2 17.0m?

@) 9.0m? . 4 3.5m2_

(5) Question not attempted

@)
4)
(®)

Read the statement carefully and
choose correct answer from options :
Statement—A :More than ' 80%

rural families keep livestocks

at household. _
Statement - B : Animal husbandry
contribution is 9.16% in

_Rajasthan state GDP.
Si;atement — C:60% of the income
of small and marginal
fan.a_ilies comes from dairy and
animal husbandry.
Options :
(1) Statement A & C are correct.
(2) Statement B & C are correct.
Ezg gtatement A, B & C are correct.
= tatetpent A & B are correct.
Question not attempted

In' the year :
2021-22, Rajasthan
stand at which rank in buffalo milk

production_a_mong Indian States ?
(1) 2n 2) 3w .
(3) 4t (4) 1st

5 ion e
(6) Qge§ﬁ10q-not attempted
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- Phytobacteriology and he proved

"2 Burrill T.J. .'

’48. Which _ho
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44. 0il adjuvant vaccin® ls disease 12

prevention of _——
cattle.

(1) Anthrax ~

(2) Black quarter
‘(3) Foot and mouthx
Hemorrhagic septicem1d

(5) Question not attempted f
Who is considered as «Father O
Plant Pathology” in India ?

(1) R.S.Paroda

(2) L.M. Joshi

(8) M.S. Swaminathan

(4~ E.J. Butler
(5) Question not attempted

46. Ireland famine occurred in potato

crop was due to the disease
(1) Potato mosaic

42— Late blight of potato
(3) Potato severe mosaic
(4) Leaf roll of potato
(5) Question not attempted

is known as Father of

bacteria as plant pathogen.
(1) Gram H.C.
(2) Woronin M.S.

_ Ceu
(4) Walker J.C, ”,
(6) Question not attempted

ok, rmon_tla.l causes mjlk
ﬂ:;};tﬁ;ln ($) Thyroxine
4
(6) Questiop not(ai);ten]i};:Z?igen :
. In 190 kg. body weight of 4
require to ea silage jp kg/q mal
(1) 10kg, 5 aY
(3) 8kg. @ 2 o
(5) Questlon ot at hlg'g"
_ tempted\
\"3__ <\~ §
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ST & 7
(1) e @2 s
() Hewm (1) IdTE
(5) ITEIRG FEH

. HEe fawema % fow w4 T afafaw
I RIS ?
1) ¥Efdes  (2) sEmUm
(3) uRFATH  (4)  TQRH

- (5) 3T S

‘Gl § G Fgeren W 1 SHawres

frafafeq 4 3w 8, T ST :

(1) EWAE  Jawrt .4t
HiEferehie .

2

i Sl

S SRfeE 6 . FRfRE
4) ﬁ*ﬁmﬁﬁﬁ;ﬂ.ﬂsﬁa‘lﬁr
(5) ITFTIE WA S 1
TSR o e (qgfiver anfirar) 4 1
FEH 2 :

1)

@)

3
4
(6)

S Rt e, feder 4 |

12

50.

51.

rrrrr

R4z

80

¥cou

GET ITON
Google Play

' belong to . silnd
ﬁzﬁggll;:inown f:or their edibility.
Basidiomycotlpa
2) Deuteromyt?otma
(8) MyxomYCO!:ma
4) Ascomycotina :
(5) Question_lnot attempted =

Who discovered disease cycle of
cereals rusts in India ?
(1) B.B. Mundkar

2y K.C. Mehta
. (3) J.C.Luthra

(@) M.K. Patel ,
(5) Question not attempted

Lac is usually markete_d as

(1) Grain Lac. ¥2)y— Stick Lac
(38) Seed Lac . (4) Shel Lac
(5) Question not attempted

. Which of the following antidotes

are used for carbamate poisoning ?
(1) \Phenobarbital (2) Diazepam
(8) Cyclopam  (4) Atropine

(6) Question not attempted

. The causal organism of ‘Common

Blight of Legume’ is one of the
following. Choose the right answer.
Pseudomonas savastoni P.V.

phaseolicola

Xanthomonas

Aanthomonas citri
phaseoli var fuscans
XAQL}.E_I_QQ@ campestris P.V.

% -

Aanthomonas

4
bhaseoli
6)  Question not attempted

The downy mildew of Pearl millet
18 caused by
E;g ?\I'Q____Imgm gr minicola
@ -S:g_mg%m_m arboresceng
) s&}&r&gmg arborescens
M graminicola
Uestion not attempted

02

@)
@)

P.V.

P.V.

citri

.

(5)
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56.

57.

58.

62.

02

59.

60.

61.

whh

GET IT ON
Google Play

G put e ‘L‘A.-{/{Sis is @&

HelElEHE i el § @ 9O | 56, Callosobruchus . 9.1‘_11.11—9-1—1?"68{_‘ of

e Tt 3 major stored grain mseé Eian datx

(1) SEEH () wRE () Rie™ . (&) 9% craii

(3) HiThel Wy (4) HIH (8) Groundnut “y_Gree :

(5) T (5) Question not attempted
forewad ¥ woRify il Rres 2t |\87.  Flacherie disease of silkworm 18

2?2 o caused by - el it

) T () Py (1) Fungus (@) Vi
@ IWma @) Fewd \8F Bacteria - (4) FProtozod wete,,,
(6) FATTiE wv - (5) Question not attempted

: o

HiEH B Thet RraarHE 2 ? ;q 58. Cottony cushion scale is a pest of

(1) ﬁ'ﬁq\a'lﬁ'q'q;a 2 = P &y~ Citrus (2) Gram

(3) =g (4) U ?"; (8) Tobacco (4) Cotton

(6) IgTiE ywa bt (5) Question not attempted

UTE.TS. 7 % JTER, $F & YR & @ As per ASAE standard, what is

I (F1.8.37.) 3 e 51 e Rhar 2 72 shaft diameter of Power Take Off

(1) 4.63 @ 5.63H (PTO) of a tractor ?

(3) 6.6 4) 3.6 (1) 46cm (2) 5.6cm

(6) AT wea 1;:3 (38) 6.6cm (4) 3.6cm

T F I R B R 331%& (5) Question not attempted

fhamam ¢ ?c‘:‘:j‘: 60. What is the inflation pressure of

(1) 2.0% 2.5 femy/ad2 - front wheels of tractor ?

(2) 3.0% 3.5 fEm/ar? (1) 2.0to 2.5 kg/em?

(3) 4.0 4.5 /a2 (2) 3.0to0 8.5 kg/em?2

@) 0.8% 1.2 fem/nh S (8)  4.0t0 4.5 kg/em?

(5) STTifea e oIl 4P 08t01.2 kglom?

' %] (5)  Question not attempted
& 80 ;

oz & & 4 1 amerm oo B 7 61. Which of the following is the

(1) 50-100 #TgshiT droplet size in mist spray ?

(2) 100-250 =R Lty 50-100 pm NG
(3) 0.001-0.1 T=Hi . @ 100-250 ym 2o
(4) 0.1-50 TTEHA . (3) 0.001-0.1 ymy s "
(5) 3Irgafa g ‘:-]3 (4) 0.1-50 pm Z/y(_ 0,
Ay ) O CSHonnotatempte %,
M) wE @) wohem | %) Goediela seotempunctaty i o

(3) WS (4) fhe J @) Nemator (2) Parasitoid

(5) IFFER@IA atode (4) Insect pest

(5) Question not
b A~

attempted

B
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63. T Ty Wiew =i 3uHW #, ©F 3w (63) In a walking type animal drawn

r@ ﬁ'ﬂ'l‘ﬁ & R o ) T R implement, aPproximately how
. . much distance the operator has to

walk to plough one hectare of land ?

1) 4aafelt (@9 esafwh (1) 44kms.  (2) 64kms.

@) s4femlt (4 34FFh (3) 84kms.  (4) 34kms.
(5) I W 33 (5) Question not attempted

64. YIRS el IS 16l 39 iz =it | 64. Conventional water lifting device
ek Ren o & S Persian Wheel consists of which
1) I RER oy components ? :
@ THE |:“‘ (1) Chain and a row of buckets

() A AFRFTIEE (2) Form of screw x
© S (38) Boat shaped trough * Scuw.

(4) wH M L4r Rope and bucket
(5) geRE I - (5) Question not attempted
4 .
66. %W%WWW% : 65. The geometric mean of = and% 18
1) 0.01 2 050 1) 0.01 ~a 0.50 A -y
(3) 0.40 4 0.10 . (3) 0.40 (4 0.10 4
N 5) Questi t attempted {
®) 313?[?(63‘[3:[ |s.:i (5) Question no al empte
66. TR A &0 (BIS)etﬁﬁE_ﬁ?a%‘ﬁ? 66. Bureau of Indian Standards (BIS)
B O A 3 = ~ have specified that the total grain
oA _ — loss from a mechanical thresher
e | should
(1) 5 o & atftres T e (1) not be more than 5 percent ,_
(2) 10 Sfewrd & ST — (2) be more than 10 percent
@) REIfEE O (3) not be more than 10 percent
@) 2TREE AT ' o (4) be less than 2 percent.
‘ (6) Question not attempted
() JmRasTE
| 67, WU R % W At 9 A fgwsf 67. What is effect on discharge
 EEAREETE@E 7 o capacity of centrifugal pump with
pump speed ?
m ﬂﬁt%aﬁﬁ;mm% f (1) Varies ag the square of the
@ TRFEESsEraeeae ! speed
@ TFT Wl (2) Varies ag the cube of the speed
(4) TP IFFER W e 21 (3)  There is no variation with speed.
' o (4) Varies djrectl h
(5) TG . | ectly as the speed
% - (5) Question not attempted
_ ‘ 02
j oY
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68. X IR Y Iy agfeos =& | 4R

02

69.

70.

71.

72.

Var(X) Var(y) = 02 Cov(X, Y) =
"é' @ Corr(2X + 8, 2Y — 3) &1 7R

Ta IR |
1 0
(3) 0.67

(5) I S

4 3) 7 T s o 5 R
=i o T Hifeat et € 2

1 9 (2 8

@ 6 (4 12

(6) FATARa A

78 JfireheaT Ry w9 & el i i
fore v 3, el Sl St Fn i
T Bt R 3R wivTrene & Seaean
ST R 4 Bl 2 |

(1) i ArgfegHhicha JAfheaT
Q) «fem =t it

() e sgEve aifimpea
(4) oz @ue Al
(5) oFANE T ' o

ﬂﬁ%&ﬁﬂz%uﬁﬁﬁmﬂwma

@ 05 o
@ 1

._s
ity

f.fe‘

68.

69.

HE B’ﬁ%ﬁmﬁmmﬁama 71. If a constant value 5’ is added to
. sysm, b g o
| standard deviation will remai
(2) increa ,
(4) rafafda@m | 3) mcréé::g l]g 25
(5) g S & 4 unaltered
MW r=+ 17, N ThHemEm K @ i’@ﬁ,g (6) Question not attempted
_ - € If r = £ 1, the tw . lines
@ T T & Taq Bt | % are . 0 Tegresslor me'
(2) foneft +ft foig W wferede et 8 | (1) Perpendicular to each other-
3 THAPBE TG (2) Intersect at any point.
(4) TR AN E | E3) '§°“;H of these
4) aralle]
63 ﬂﬂﬁhﬂ BS A
) (6) Question not attempted
~ 15 - +
oy = = a
FHEAELY 3

- and the experimental area has

GET IT ON
Google Play

discrete randoﬂ; W

are
X and Y - Var() = 0%

variables. If Var®)
Cov(X,Y) = 9—-— find '

Corr(2X + 3, ZY 3).

(1 o @2 A5

(3 0.67 (4) 1

(5) Question not attempted
What will be the degrees of
freedom for chi-square in case of
contingency table of order 4x3)?

raTATT T.

1 9 @2 8 P g E
(3”6 (@) 12 Cu.,)( v, {a
(5) Question not attempted o |

|

A design is especially suited for
field experiments where the
number of treatments is not large

predictable productivity gradient.
Completely Random1zed
Design. — ‘
(2) Latin Square Design -_ /1
8F Split Plot Design
4 Randomized Block Design |
6
(5)  Question not attempted

—_—
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73.

1) 12

74.

5.

76.

WA TR froe Fremafy 2023-24 %
e w7 |

2) 14

3) 24 L@ T
(5) I e

F-SReH RE F Ted am H
framd - e

I af i ST e ST |
0 2, T arfafeR FETERT 1 I
I Fh ! HA
FHAE |

af SR I A I A
aftrs 2, @ wiewenfia dEmeE &
T s wha R |

3, e AT e ST
F R, A T8 Fgad anra-H fag
A2 | P
Frfrfea 3 4 H W FEA T 22

1) ¥WIAN () FaAll

1L

1L

=y

@).-LIFIl (4 sl

(5) gaIRd I

fiv s e e @ve IR
B, 7 39EvE 3R B, §e fetea
(1) E,<E, (@ E,>E,

3 E,=E2 (4 E,=E,~
(5) IrFiRd T ' :
ﬂﬁﬁ%ﬁim&mﬁma@?ﬁm

Pt , 3g W ITN B g

AT R, I =
1) e<1 @) cte=0
(@) e=w 4) e>1
(5) IaiawA

|
|
l
|
)
|

E‘"*--‘-—E_;ﬁ;hei O

73.

For how many Kharif crops, the
i 0 was

“minimum support  price

" announced by the Government of
India during Marketing season
2023-24 ?

1) 12 (@ 14

3) . 24 7

* Question not attempted

®)

74.( Profit rules under the principle of

75.

76.

\S {Factot-Substitution

I. If the substitution ratio 1s less
than the price ratio, one can
reduce the costs by using the
more of added resources.

1. If the substitution ratio is
greater than the price ratio,
costs can be reduced by using
more of replaced resources.

III. If the substitution ratio

equals the price ratio, it is the
point of least cost.

Which of the following is not
incorrect ?

(1) OnlyI&II (2) OnlylIIl

@ LIN&II (4 Onlyl

(5) Question not attempted

In a split plot design, the following

relation exists between the main
plot error E_ and subplot error E;.

(1) Ea - Eb (2) Ea > Eb '
%8

@ E,=E  wf E,=E,

(5) Question not attempted

Regardless of the shape of demand
:ﬁrve,- as the price of commodity falls,

e total expenditure of consumers
on the commogity rises when

£<1 (2) e=0 "
(3) e=w i (4) e>1

(5) Question pot attempted
' 02

GET IT ON
Google Play

n

?
¢
{\.

3
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..
&

g

Sy, A% e Tt et & T
: %o YA fer e

v A ST SRR 6 e i e
3T B T e ey A 2 |
et wfedrn w1 faaer adam 1w

% Tt T g & e e

IR TH & ST R |
v fae e e e = &

S B} W i wfien
G

ﬁ%&qm@eﬁﬁm%@
SR HT

(1) haB

2) ABafttD
(8) FaA B3R C
4) A,B3RC
(6) g S

WA I FeE H g T & e
feaffer Rt AR AT FA O R ?
(1) TPP uedt gt sgai |

(2) TPPEgii @A |

(3) TPPuefi XA ueai |

(4) TPP v WA TG |
(5)  argTiE W

frafafas & @ ®F @1 AR TR

sifg® Twger IRART (TRIPs) & TSR
T @ e ?

1) -9

2) i fesmeT
(3) wmHTe e
(4) WepTIATRERR
(5) Irgafa s

B.

78.

79.

02

T P W P ST R Y S

17

78.

@

| 79,

GET IT ON
Google Play

nts
Given below are seme stzt%T; £
relating to project  apP
techniques :
eturn
A. The Internal Rate of ;l e “{f‘ .
is approximately G o
related to theLay_lmdiILer__ sy %
B. The Net Present Value f \a
project equals to the sum cil
present values of all its cas
ﬂows
C. -Thé difference between Gross

and Net Benefit Cost Ratios is
greater than one.
D. When Net Benefit Cost Ratio
is greater than zero, accept
the project. »—" .
Choose the correct answer using -
the codes given below :
U BandDonly -

i %
(2) A, BandD.—

(3) -B-and C only

(4) ®A;Band C

(5) Question not attempted
Which one of the following

statements is correct for Stage-2 of
classical production function ?

PP increases at decreasing
—“___»__'_—————___'____
rate.;

TPP: decreases at increasing
~rate:i - '

TPE: decreases at decreasing
rate;

(4) TPP mcreases at increasing
' rate.

(5) Question not attempted

(2)

Which one of the following does not

pertain to Trade Related Intellectual
* Property Rights (TRIPs) ?

(1) Trade marks

(2) Industrial designs

3= Quanutatwe restrictions

(4) Copynghts A

(5) Question not attempted
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80. FrfeRaa § @ S € afEism wfy 3% | 80. Which of the follow.ing projects Wag
. T # it K &A% @ a:[fﬁmq N . initiated with view to obtaj

maximum return per unit area pq,

R R A TR R T of unit of time ? e
1)_ Krishi Vigyan Ken
(1) i fomm < ‘ 52;  Lab to Land Programme
o Y ' (3) National Demonstration
(3) T weE TREteH o Project ~ |
‘(4) RIS HTEUH qfEeEr o ‘%Operational Research Project

' ted
_ = (5) Question not attemp
: (5 aE!EIIEI _'SRH' . | o0 81. ‘Who are cautious and skeptical {
81, 1= % & & ¥ e IR TRt B § and adopt new ideas just after the
St % R R B @ sfeR FR S ow | average ?members of  the
E 2 community ?
wﬁﬁm@ﬂmmgﬁﬁé (1) Laggards~

W , it (N t{2)— Late majority [J Cﬁﬂ:,.‘/? *
2 femwgies P (3) Early adopters ( £t~
(8) fter e Y g (4) Early .majority ()

4) e wgeEs 0 (5) Question not attempted

(5) ‘mm 5 . 82. The lead promoter of online

trading platform of electronic

- National Agriculture Market (e
82. - WRINE T PN aR ¥ sriFemE NAM) is

TR TS T SeeTe s & ' (1) Igational Agricultural
- N ooperative Marketing

(1) u@awﬂmﬂﬁww b Federation

(2) T wgwr) fomre ey - g ; (2) National Cooperative

(8) WRa 1 T i TS Rrfre & Development Corporation

B S— National Stock Exchange of
W) ISP mEEEE - India Limited -
(6) rFaRa v (4" The Small Farmers

83. WUMER v Rem dem Wﬂ"m‘ ﬁ l ey Agribusiness Consortium {13 2y
5 ¢

- sifelys ; b e Queéstion not attempted _—
. ' o I 83. When was the Pradhan Mantri
(1) 259w, 2015 g Kaushﬂl'vikas Yojana launched ?
(2) 15 3rmm, 2’016 . 0 8; 26t July, 2015
. (3)-- 25 R, 2016 16% Aygust, 2016
o RN ®) 25t geptember, 2016
(&) 159, 2015 U 15m 5y y,2015 ) 5| 7 7
- (_5) A T ' ®) Q“eﬂinn not attempte
| 18 ' ’
. { 02
o | -
o 3 ‘-_HF‘-—-——.—-—‘M\
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Y e

84.

~ 85.

86.

87.

02

frafefed 7 ¥ S F gl AR

g o T & 7

1 qﬁhﬁﬁﬁmf{ﬂwﬁﬁ“‘

9. TEAW IFH

3. 3T AR

4. Rfvuamfiaemy

2 fu U He w1 Iwm @ FE I

R _

Q) 2,334 (2 1,23N4

(3 1,233 (4) 1,33MW4

(5) T A '

et 3 8 i o P R o e it

?7

(1) » fFafes

@) wa= fRaw

(3) e o

(4) e Em Rl o

(5) i %}

_ g ufEm g, IE W

§ s vfori A e war |

(1) dreiegy TRER

@) i hew -

(3) wgEsiE 9iER <

(4) UrefrREE 9RER E;é

(5) IRa W o0
aguﬁﬁmﬁa%mmﬁﬁs

m%u@%ﬁa@ﬁ%ﬂm

Y TR F1 GIR RATIA@R | {j_.f‘

(1) foreror s =

(@ arfwgw whET D)

@) aTaR-foia ¥R I

(4) weEmWREm |

(5)  3gwIRa T J

19

86.

8.

SrlERiRRIREm

Principles of PRA ? . d

L. Offsetting Biases an
Triangulating

2. Optimal Ignorance

3. Mutual Sharing_

4.  Seeking Diversity __

Select the correct answer by using
the codes given below :

() 2,3and4 (2 1, 2andd
@) lr2&nd3 1 3and 4
_(5) Question not attempted _

Which of the following is a group
method of extension teaching ?

(1) Farm clinic>
%) Field day
(3) Exhibitionrs - -
(4) Farm and h_q;_:ggﬁsit ~IE)
(5) Question not attempted

is the family where a -
man marries more than one wife.
(1) .- Polyandrous family - |
(2). Patrilineal family
(3) Matrilineal family
'f(?[f Polygynous famlly

(6) Question not attempted

__ is the process by which
an'~ innovation is communicated
through certain channels over time

among the members of a “social
system.

L& _Diffusion process
(2) Adoption process
(8) Innovation-Decision process
(4) Communication process
(5) Question not attempted

GET IT ON
Google Play

84. Which of the fonDWing are the
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88..

89.

(90 ‘st siidrer 3 A

91. fmuy

Perfen ¥ WS F R gl
1562 3t % JRY T 3195 % anfyey 5

=TT 7
1) wERE @) A

3) #edr ) fEm

(5) TG ¥

IR T B MR T RIRY e &
e fohet ToT B Qe ey -

(1) TEHT  (2) TEgEy
(3) F=@wET v@’aﬁiﬁﬁm
(6) TR T | |
IR F fReft
il o SRS T e ey Ry 7

(1) 0 0T TG (2) - T R ey
(8) WAL (4)  fe Mg

(5)..- T S

T S RO B |7 T ?

= (1) T SHiqRl gy srgar weqay

92,

93. ___Tlﬁm;-vhm

+

(2) ST WEW grr W R
(3 ¥ il & wew fmfo o
@) 37w forfewt o o1 ey
¢ omeww- o
P 4 & o 301 worer @ et Rrmifen
D) s (9) g
® W e
®) IqEiamy | .
T shieeied feferiad
’f?ﬁﬁ%ﬂwﬁ“ﬁg‘ama?
1 : 3 ;
() Gﬁﬁm%@ﬁw -
\ 3 :

@ MG,
®) aﬂﬁﬁ'ﬂm~ ¥ dp

88.

89.

ORNNT A

£

-

)

GET ITON
Google Play

; following Fortg
in?'aarly 1562 A.D. ? s
(1) Bhadrajun 2 S'e angy
(3) Merta (4) 1wa§1a
(5) Question not attempte

the ‘Harikeli’ drap,
éﬁ?g}fi g?cltn has been _eng:)raved o
the Adhai Din Ka Jhopra !
(1) Prabandh Kosh
(2) Samaraicha Katha
(8) Dravya Pariks_ha
(4) Lalit Vigrahraj -
(6) Question not attempted

Who led the boycott of foreign
clothes in Ajmer during the Nop.
co-operation Movement ?

(1) Chand Karan Sharda

(2) Ram Narayan Chaudhry
(3) Shobha Lal Gupt

(4) Pandit Gaurishankar

(5) Question not attempted

91. Which one of the following was the

main reason for the ‘Mer revolt’ ?

1) Increasing interference by
local landholders .

() - Increased Taxes by Maharana
of Mewar

3) Road construction in their
areas

(4)  Attempt of British control
over them

(5)  Question not attempted

From which of the following

archaeo;ogical sites, coins bearing
Teek signs have been found ?

() irwara (2) Dareeba

3 Jodhpurg (4) Ahar

(5) Uestion not attempted

- The G&neshwar-Jodhpura Copper

Complex is related to

which
Pottery among following ?

(;) lack and Red ware

((3; o_rphem Black polish ware
@ alnted Grey ware

) Care colour pottery

Uestjon not attempted
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94.

95.

97.

98.

@) T, s, e, e %'-i

(5) AT T | g'
96. et 1 A A W1 TR 1 i T T

27

(Y At

@)

(3) R

@ T o~

(5) Tt Z;;

e e 3 i 5 R sl 0

5o TP ot g v v e 7

(1) e Riged (2) wHfdg Il

@ e @ dmRe

(5) Irgaia I N

ﬁn%f@aﬁﬁaﬁwﬁga%mmgnﬁ!

¥ wiitrg et Tiiferg gra foreht 7% off 2

A. Sgrawcf B waff

C. TSgcaq D.  graifEhT f\lj

TE e 1 T HINL: &N

02

frr 3 A 4D & TR e 1 et B
T g REiw 4 ¥ wew # Rm
A ] ? :

1y T

@) iR
(5) ITARG T

=1 # /A 9w 5t % B G 9
gafea 72 2 ?
(1) TR, s, T3, T -

2) i
(4) TTEE

(8) I, 3, UTeht, WAt

1) B3WC SABIRD &

@ B,C3RD 4 AskB
(5) I A

21

94,

95.

96.

97.

98.

e

(4).

GET IT ON
Google Play
E ._""“““""'—"1 LR PRl B (R e :

Which of the following Blll}fl

rulers js  depicted 129113';1 ng
Shrinathji in the Chitrasia
undi Palace ?

() Chhatra Shal

(2) Ummed Singh

(3) Bhav Singh

(4) Ram Singh

(5) Question not attempted

Which one of the following group 011;
olk musical instruments 18 nO
correctly matched ?

(1) Pungi, Algoja, Nad, Mashak

Ravanhattha, Jantar, Nishan,
Satara

Manzira,

Khadtal

Mridang,
Naubat

Question not attempted

(3) Jhanjh,  Thali,

Chang, Khanjari,

®)
Which of the following is not a folk

- dance of the Garasiyas ?

(1) Mawaliya (2) Loor
(8) Vallar (4) Kood
(5) Question not attempted

Who was appointed the. first
Rajpramukh in various phases of

._the formation of present Rajasthan ?

1)
@ .
3
4
(5)

Which of the: followin b(‘)oks were

written by Govind, a famous shilpi
of Maharana Kumbhg ?

A. Udhardhorani B. Kalanidhi

C. Rajvallabh D. Dwardipika
Choose the correct code :

(1) BandC  (2) A BandD
3 B,CandD (4) AandB

(5) Question not attempted

Udaibhan Singh Deo
Mansingh IT -

Bhupal Singh

Bhim Singh

Question not attempted
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7R W@ FU W ofig )
g ?ﬁmaﬁmﬁﬁ%@nﬁ?ﬂm
(1) @t @) <=
@ FEEE T (4)
() @R
100, Prerifie 3 & F H T/ Terh g
rer grar forll T2 T 7 R R g e
% wgrar & e forehe gfig '
i, SNWER i TS

eI J¥

101. forva oRig wore TG shex v 2 |
(1) veEERRE (2) 4 R
B REE (4 P
(5) TR S o
102. FrerfirRaa 3 & 1000 wex & arfres s
Al et e e % Rl w1
F{E% * 5T .9”'?"
(1) TG — g ARyt — Ere %
: = E[}d%%_j_@ -
sl .
(5) 2y - g — a1 7 <
| @ m'-%ﬂa—w/x
| ORI
| o
ii:_ 103. ﬁqﬁﬁaﬁq;ﬂMﬁ% 7
@) uER - TTATE
(5)  srgafe wm o

|

99.

100.

(1)

101.

102.

103.

104,

GET ITON
Google Play

‘Bheem Vilag’ composed b
Shankar Rao ig wy : Ok
Rajasthafili diales ':;&E)mtten In which
(1) Bagdi (20 Dhundhari
(3) Ahirwati  (4) Mewari "
(6) Question not attempted

Which of the following -book/books
was/were written by Suryama]
Mishran ? Select the right choice
with the help of code given below :

1. Vansh Bhaskar

ii. Ramranjat

iii. Dhaturupawali

iv. Raj Rupak -
Code : ,
Lids @ i v
3 i, ii,iv 4) i

(6) Question not attempted

Ramgarh Crater (World heritage
site) is situated in

(1) Jhalawar district

(2) Bundi district -

(8) Baran district

(4) Kota district

(5) Question not attempted

Which of the following is the

correct group of peaks of the

Aravalli mountain ranges having

height more than 1000 metres ?

(1) Raghunathgarh Dur
Marayaji — Sayra

(2) Rishikesh — Kamalnath’s Hill
— Delwara ,

(3) Roja Bhakar—J arga — Mt. Abu

(4) Kumbhalgarh — Leelagarh -
Sajjangarh - &

(5) Question not attempted

Which of the following is not a

‘Jasnathi Sub-peeth’ ?

(1) Panchla (2) Bamlu

(8) Malasar (4) Lalasar

() Question not attempted

‘Chahal Puyjaris’ are related with
shrine of which folk deity ?

(1) Ramdevji (2) Mehaji

(3) Gogaji (4) Pabuiji

(5) Question not attempted
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o= ¢
105, 1 b ITAR, BT o Rrefl T “Aw” | 105, Accorg; e, which EI000
1) SEer, e, grEm X atic region ?- Sl b
\,,22-))/641'73313[ m’m - () Jaisalmer, Bikanel» .
. = N FItCHSt Ganganagar - .
3) /@Eﬁ- SYY, gE - 2) ?ﬁnlswara, Dlmg_arpur’ :
: alawar e
(4) ST, S, Redelt ~ (8), Pali, Jaipyr, Churt "
. 6 IR .+ (@) Udaipur, Jalore, Suﬂhil
106. Freferad e femivamd e : (5) QuestionGiot attemptfa -
(a) WM—@E—;? 106. Following soil characteristics ViZ-
(b) I .0, T e S vl B (2) High percentage of 9“12}31 _—
mmﬁquﬁ% 2 "y . b (b) High ) pH value w1 !
. B organic matter )
(1) i ge i are found in which type of soil ?
2) G [ FoWaE < (1) Black Soil,
w3 Welt [ ege (2) Alluvial Seil .
(4) . A A : (8) Sandy Sciﬂ :
- . (4) Red Loany:Soil
G) ﬂaﬂﬁﬂm ~ (5) Questiontiot attempted

107. g1 & G-I H gAfReq HIRvG o | 107. Mateh  ListI with List-I[" and
: choose the correct answer from the

ﬁ%ﬁqm@ﬁ%a@w@q; code given below :

11 .~ ListI 5 . ListdI
i) ATH : (A) Kalisindh (i) Anas -
i) g - @) Luni (@) Dhundh
i % . (C)Mahi = ey(iii) Parvan

1) Tl gy (D) Banas - < (iv) Sagi
) Tt : | Code: % ; iy
: @A) ®B) (©) )
4) @B) (©) (D) 1 @@ @ @ Gv)
1 @ @ & @ @ @ @@ Gv) (i)
@ @) G @v) (@) B ' @ @ Gv) @) (i)
3 (@) Gv) @) @i (4) @Gi) Gv) () ()
A () Gv) @ G (5) Questionmot attempteq
(3) ¥gA@IE | 108 Which of theNfollowins
. ollowing maiwe -
108, e A e a g A Gk & 7 " correctly matclieq 7 6 PIrS is
'R"F“' ﬁ DiStl‘.’iCtv g Lake ol
1) gﬂag{ S m@, ‘lﬂm . (1) _._D,hOlpur i %ﬂﬂi’ﬁha}ﬁs
(@) sl - e, W@ < | (@) Jalore ~ Balsameny
3) d - %ﬁ?ﬁ:____ﬁ e "~ (8) Dausa - J'I]ai.E] agar
FSlal = Wﬁ,ﬁ_ﬁﬂﬁv (4) Bundi  — Bhim ili, Motisagar
(6) st S (5) Question Not gt +» Jaitsagar
Mpteq

02 . ' 23 .
_ _ a3
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7o

=
A ¥ A B a . ich of the following 1s correct)
109. fr=fafaa T i | 109. Whic ey

¥

g T (2001 @ 2011) % TR T —arranged In ascending order as

- r
ir decadal population growgy
o SRIE 550 3 G @ 7 ngf—zoo1mzo11?
__:(dé/mﬂ'(, mm " (1) Jaipur, Banswara, Jodhpuy

(2) AR, YW, are ,-\% (2) Jaipur, Jodhpur, Banswarg

i Ll M{ ] 3) Banswara, Jaipur, Jodhpur
® ’ ’ 5)’; 54; Jodhpur, Banswara, Jaipuy

E LG : \ (e s 5) Question not attempted
" o ‘ 110. ‘(N)ith the cooperation of whjg,
110. fF 30 & wEam @ mma%ﬁ S country, Rajasthan Forestry ang
JA9-fafuar e TRy (RFBDP) Biodiversity Development Project

T gaTfera T ST R o (RFB]‘Z?)P) is being operated in ‘thg
. . state !
| (1) w2 Shig (1) Germany (2) France
| @) w4 (4) S (3) Russia (4) Japan
(5) orwRa 37 o (6) Question not attempted

111. ‘g@T avifea &3 wrfmy (a,tf!:ﬁ;_tﬁ_)’ w1 | 111. ‘Drought Prone Area Programme

oA R & e 7 | (DPAL) was started in which of the

(1) 1980-1981 (2) 1977_ 1972 (1) 1980-1981 (2) 1971 - 1979
A3 -1974-1975 (4) 2009 _ 99 10 (3) 1974-1975 (4) 2009 - 2010
‘—{:ﬂgﬁﬁam (5) Question not attempted

112, ﬁt{%ﬁgﬂﬁﬁaﬁﬁm@-ﬁq Figarer fg | 112. Which of the following minera] is

: - found in Leelwani and i
%_Eﬁﬂg}_:ﬁ{ﬂ@m ’hﬁw‘?ﬂ?ﬂ? ? + areas of Banswara district :;\Iaradla
(1) & L(2)’"ﬁ11=fj§r (1) Zine | (2) Manganese
(3) afferm @) W (3) Beryllium " (4) Gold
(6) FafE : & (5) Questidril'not'étt‘efnpted

’-’é 113. According to Annual Re ort 2023-
@;ﬂ formn, tererm s ftad '2023.24 24, Forest Department, I%a?asthan,

IIER, T H Wy iRy aitaq Pter Capita Forest and tree cover of
| T T JET 2 < ?1;"“* o .
| (1) 0.087%R%: (2) 0.022 %R @) *0‘832 g?cme
@) 0.032%m (4 0.027 20w (3 0.032 Hootarg
®) Hmm ‘ o (4) 0.027 Hectare
114. 2011 6 TR 3% IR, eﬁﬁl@“? ¥ (5) Question not attempted
%ﬁﬁﬁwatm= Aftpan o | 114 Which districts of Rajasthan have
WERT o the mayinm 3 i
; @ R 3 }:‘E" ke Hterﬂcy 1"atel'url-1.‘aa?'pgtlzxtiveblr]1 ?ﬁmgg
| a@s kg’ '@’%M 2011 cengpg 9
(2) 3T 3 s N (g R
®) [~C @) AR and Jalore
. W—Eﬁa Ajmer and Pratapgarh
4) Wﬁm@} (2)_ Jalore and Kota
(5) T wex _ gs) “Jaipur and Jalore
o+ : 24 ) Uestion not attempted
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115, T 3 e <t firer fopm = & wenfir

HTE 7 B

(1) 1937 (2) 1965

(3) 1976 4y~ 1932

(5) “IFER@TA

wqfetamiiee ; e g we RS

g FERRA HifReggyme wdufeed” I,

%mﬁ%‘f ‘

@ w2 e R o

(@) P (4) WA

(5) ITFEIRG IH ' "

117. Pr=fafeg § @ W @ el
ﬁmargawmmAKA)ﬁﬁ
9024’ 1w fasmar 2 ¢

1.

FROT (R) : WO WER UH 2,245
. Frraife. A STe TR T A

\BA) 3t () 3 78§, g (R);

(A) o AT TE R |
) (A) Tt 8, TG R) TR |
@) (A) T g, g R) TER |
(A) o R) 3 @@ € 3 B),
(A HrE e |
(5) TITG I
@. fy sy iy Tfien 2023 % ITER;
mmﬁn@ﬁﬁﬂ_@ﬂmﬁ?ﬂl
T ‘TR e G T R ?
(1) wi (2) StEEs
@ v (4 HER
(5) TR ¥ S ,

£

02 25

GET ITON
Google Play

: ill
first sug?’ s
Rajastbe”
1965
1932
pted

0 book

ctions,

arative
Comps

Perspective
K.S. Chauhan

Aditya Sinha

Anuja Chauhan
Raghuvendra-Tomar i
Question not attempte .
Universities

115. In which year the
was established in
(1) 1937
(3) 1976 4
(5) Question not attem

Who is the authol
“Parliament : Powers
Privileges;
Constitutional
(1)
(2)
(6))
4)
(5)
117. Which of the following
is overall winner of ‘Maulangofég}l ‘}
 Kalam Azad (MAKA) Trophy 294% °

(1) Jawaharlal Nehru University
(2) Lovely Professional

University _
(3) Chandigarh University
(4) Guru Nanak Dev University
(5) Question not attempted
Assertion (A): Rajasthan  has

the infinite potential for solar

energy development.
‘Reason (R):  Bhadla . Solar
Park is Rajasthan’s largest
solar  power lant with
capacity of 2,245 MW. =~
Both (4) and () are tre, but, (R)
of af)t the 5 P explanation
(A) is true, but (R) i
(A) is false, but((l;)) fsifie'
Both (A) and (R =

. : ) are t
(R) is the'gg rue and
of (A). _I‘T._'ect explanation

(6) Question not, atteinp ted
119. According to NITT- '
Review 2023, _Iw%?yog Progresg
following districts op Rca, one of -
highest Multld-‘menaio‘]aSthan hag
Index’ ? I _ hal POVerty
(1) Karauli )
(8) Pratapgarh (4
(5) Question ngg .
' tempte

116.

118.

(1)

(@
3
(4)
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@m
2024 5, Freiffen
i3
Tl
20.
.In December o
51 ki
’ hich
of th
e

s
Tt et ¥4
o RUGIRLC
1 ___M X ’
53; 1. foi W
. " 2 S ;
6) T o ) qug I followed ¢
iy O owh | i
T 3:;:] 247t g,; L d eaglef)fflciauy
- ; ’C!‘J 4 - a .
B s g, "R, Ry & @ UA S its
& mﬁ;ﬂmm Tgafy 121, Wh Questio 4) -
1) s E2) , % b retaker e cha pted
2 T 2 T tc?ckmg gEprime rge of Syri
) :ﬂgrqa : ' "-:.Pp_led f the fmlniste yria as
®) wmw e 31t mDeceﬁreSiden(’rmer r with the
it ~ STt 1) S nber 2 t Ba rebels he
(5) 3 5"3aqﬁ:_5;_wﬂ_{ | @ I nfham- Ig:ltam ssad
122. T & 3 g:ﬁ,; Eg; DQ/IoiinI?;l&miShaZi Al Jalals
2025w3§mﬁ y ¥ 122. Rec ueStionflita]'BaShjr 1
) ¥ T o I R TR Do be Bhars
ICE ] T v | 39 w . Th en arat M
@ i L TR o g ok organi hot |
pic] 3w (1) to of od e
3y Wlﬁaﬂ‘ﬂ%‘: : - @ Gaon this Mm N v
mﬁau.i] @ ) G Ch ah ew
4) ¥ iacs , A 5 & ; aon ale, t ots
G e 7g 30 1 3) Vi V{koh Desh &
) aaaﬂa, R RLG) Sa S as, t Ch
1 =K a% B Shakt ) Dh D ale
3. 26 f: T Eg; Ggarat Gaion, % esh ka
gq-l-q . s 20 . : = On B ] Oh .
% %.Q Trg‘.l,q_ 24 @f : 128. Co ,Questioadhe, to . SaShakt
ﬁq%gﬁm -k o o
T8 Req &R %q radh er foll -atte sh Ba
FoET (fram. T Pur an owin mpt dhe
YT T ST D ask Mahi: T ed
A:157 < et o co‘-a"“’ml-fiir (PMRE e
| =i ﬁt@/m 3R Strrector’i 202 P) awshtl'iy ts for
— . i ik 4 ardsd B
| B:WW%' e | e f orarced al
| il Ay 15 State chooss the
! T AR TR TR St sele tate 1 T, e the
- W Ao 3 s 3““@@' alem c-tedfoUT’s,chﬂdr
. g) WT%| ﬁﬂ‘h{qan@: I - of%ﬂ&B?x the awhavgn {;rom
. (3 - - a
® wA vy .|, e s, SRR
(4) MWA a1 FY % 1) S tegori ents e RBP nt
ayr B tat es. _excepti to
(5) YT B 3@ TR ( st em in ption
# CCtct Awe § | 9 g ent s al
| I (3) ga.tem ottt A false true b
" “ Both the state is f oy
) Bot false state true. alse  and
26 (5) aret]; the. . ments A
Qlle;“bl_le. . atemen and B
attem nd B
pted

F



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247]

SR L

124’-(@-{2]1? 'E(.E'I?T au ‘W{fﬁ'@f B
yforat TR el TRIT | | qreeirell TR R AR
Sy et 3 & e foret H ST el

| RETETR 7 fiire =
1) et ). gt
@ FeEw- (@ RAE =
(6) FIT@TH gy

126, et & 3 ST eI <) e e S
Ay 2024 T TE 2030 TH feraeit
ST S S BT FAI Q7

(- 125GW (@) 250GW
(3) 500 GW (4) 100 GW

(5) . ITRA S

126.aﬂwazaﬁrﬁamﬁmf@xﬁrﬁﬂ
mmﬁ%
V2o S
(2) g
(3) TIHUSHE T
(4) ST YEHH
(5) RN I

127. S TwEd fEeR, 2024 § e
— e dRTE-aEs 864 Hif R IEE
<aeq fEaE ey T TORYH % 9Ed
RS | IR S A
}) s> (4) FH«
- ©) g T |
{2y

R ¥ T W g TR d
12 wadl, 2025 H A Fanedl A gy
HTEHH o & weta fRgTmE 70
(1), 10 @ 1

(38) 13 (D!’ 7

(5) 3Eia T "

02 27

124,

127.
o

el

Ll

.:“ﬁ
l-_‘“ ¥ o
L
A

128.

(¥

7. renewable energy capac

. The

(2

GET ITON
Google Play

I sa.t:ribhc"'orn'1

“Karmabhoomi S€ tly . . o
campaign *“has receiln wh c};his
started in Rajasthad%gtricts d at-
the following , been arte

campaign tome
the initial level ? JOdhpu?
- '45:?"'_8""1’1'0}11

(1) Pali
(3) Jaisalmer pte d
than’s

(5) Question not atte™

jas
Recently launched Le i
Integrated Clean Energy

2024 aims to achieVe,
ity

1 1256w @ 250 (é:"v
(8) 500 GW 4) 100 3
(5) Question not attempte

weather

) (9) .
aggregate ', hg period O

conditions over &
time is called as :

(1) Climate

Atmosphere
Atmospheric Pressure
Climatic Index

Question not attempted

©))
4)
®)

Sanskar Saraswat became the first
Rajasthan shuttler to win a senior
national men’s doubles title at the"
Yonex-Sunrise 86t Senior National
Badminton Championships held in

December, 2024 ix
belongs al Bengaluru. He

to whi istri
by ch district of
(1) Udaipur = (2) Jodhpuy
(8) Ajmer @ J dipur

(5) Question n_c‘!'t; attempteq

How many yout

with the Youth.Ilém? ere honoured
State Level Yoyt
Rajasthan on 12 Jgy
(1) 10 .

3 13
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7)

(1) -83.3%-66.6 (2) 0¥ -33.3

@UU&‘LA

GET IT ON
Google Play

e lack of resistance of a soil to
128, g;;? e Sl A | 129, Eﬁf er%sion is called as
' RCIECH) Erosivity _ '
. ~(2) Soil Erodibility factor = ur-
2 W (3) Land capability
3) "Iﬁ' & (4) Erodj]?i.lity 2
(4) gt (@W) (5) _Questlon not attempted
(5) 3@ hialolie | .130. Agri-Silvi-Pasture  system  of
130, F aivht A Th-freh-urem yomeh 'Kéﬂr;forestry includes :
i i & ' i (1) Trees + Pasture
g + TR 13 27 Crops + Trees + Pasture /
(L) T 42 animals
@) W +Ig /T i (3) Crops + Fruit Trees +
(3)  wEe + Eqﬁ + TEeva i3 Multipurpose Trees
(4) oS+ : (4) Crops + Trees -
- (6) JgERa¥E Iy () Question not attempted
131. fz&mm@%ﬁ%%ﬁwm‘g% ;';5;131. Whii:gh is " txi':u:?e for Triticum
1 i{ﬁ?{ﬁs Forad 14 Torgx [ aestivum wheat ? _
EZ; R =W g 45 (1) Tetraploid wheat having 14
g % 49 ~ - chromosomes=<
ORESSE Common bread wheat —
R N n bread whes
@ . ﬂi (3) Durum wheat -,
(5) FERA ¥ (4) Emmer wheat ,,
132. 3E-I SoEg % fow o i (5) Question not attempted
oI WM e A @ ¢ :

32. What is the Moisture Deficit Index
(MDI) value for semi-arid climate ?

(3) —66.6JFR (4 0V33.3 1 "I -83.3t0-66.6 (2) 0to—33.3
. I ' (5 uestion not attempted
133, Frr & &, D ) 71 s B , P
r b vy 133. From the _followmg, Plant elements
(1), e T s ;lllggtp;owde basic structure to the
’ A re : > ’
(2) - eRrm, Hfevram & At «D—C,Hand 0
(3) i, Trrefiet e i _ (2) K, Caand Mg
(4) TAH, BIEHRE T G ¢4 3) Fe,Mn and Zn -~
(5) T 2 I (49) N,PandsS
134, T TRIGER S il 1 0 &9 § a1t 3 (5) Question not attempted
e % T Avem i w fink T g, 184 ti‘} Weed that depends partially or
wEo@y w0 for its Growth on its host
(1) R (3fehite) @oar 0 oied us
(2) ETH (fRerer) TR -gl;h.gate weed
@) fan (Qf%l'ﬂ:l) : s A]ixmus. weed
@) e - Eryead
® Parasitic weed
+* e bLl) - ; (.5) Questjon not attempted
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& 1 TR e 3R :
135'3333?:3@?1%. aﬁrwﬁgﬁﬁm
@) S ST o
@) et feren garan St
@ TR e
() IR i 100

136 ﬁﬂﬁf@m% :
(1) SRR, TeRM
(@) . I, H‘E?Inz:gm
AITH, ST e
d(i;/ HTTA, ghmm o
(5) I A =
137, T e, =R, TR S 32
e frant Ry g el S W &
e P % e Sy R 2 \
(1) <4% (2) <6%
@) <8% (4) <2%
(6) @ S "y
138.aaqaaﬁ§aéaﬁﬂaa@nﬁ€r,” ikl

gy 3 T 3R Fre-HfRehr B HT FFT
A RIS ¢ <

GET IT ON
Google Play

—=

7

Shpst, _fe—
wl?wf — Yoot

= root

ed 111
188; Percentage of w—g@/rrf:/eqﬁﬁéaq nthe

Zone to the water .
root zone is called 88,

(1) Water conveyanc®
(2) Water applicatio? 2
(3) Water distributio? °
4= Water storage effi
(5) Question not

136. ICAR.-Indian Institut®
System Research is 1062
(1) Bikaner, Rajastha? 1
(2) Bhopal, Madhya prades !
(3) Modipuram, Uttar P;‘ades
(4) Karnal, Haryan2
(5) Question not attempted

137. Agronomic practices like, contfrlill‘
cultivation, tillage and . St foI:'
cropping etc. are -sultable-l d
controlling soil erosion 01 an

. having slope
(1) <4% \(2) <6%
3) <8% (4 <2%

(5) Question not attempted ;

ﬂ'jciencyx

138. When the soil is"in good tilth, the
capillary and non-capillary pores

(1) 1:2 (2 1:8 o & would be roughly in ratio
@) 2:1 4)...1:1 (1) L2 @) 13
3:13?-1‘&?[_- | . 3 21 L4)—1:1
& X = & - (5) Question not'attempted
139, HeX T H Smeafd b TEeA ITehe™ v O
g 3R agefa @ In .remote sensing, h
ik ! 2, e 3% vegetation can be aSS%Ssede];lzﬂg]D\%
i) g TeRal ST &) P gNormahzed Difference Vegetati
A AT o | ndex) whose value ranges betwee 1Fc:n
@ o0&+ () 03+1003 1) 0to+1 @ 0to100
‘@) —wd+o @ ~18+1 3) —-oot:.+oo ) M
" (5)  aTaTE S ‘ (5) Question not attempteq
140, Wt Sg-Iqwh H TS el 0. Shelf life of liquid pi e .
TR T R | " canbeupto - Ofertilizerg
TE 2 1-2°9 (1) 3-4months (2) :
(3) 3-4ad @ 12 | ) % 4 years (4) 12 rs
' (5) uestion not gts_ onth
0 () IgERaTT 2 attempted hs

o
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St i & i ST T IR -
R R 7

142. wﬁawﬂzxqarqﬁq%f@aﬁa%m

(5) SmEraTE N

GET IT ON
Google Play

141, Which of the followmg mStmment
is used for the measurement
goil-water potent1a1 ?

1) 71) Lactometer<

(2) Potentiometer
Tensiometer

(4 Hydrometer.

(5) Questlon >stion not attempted

of

Es142 In India, acid soils are wide]

(1 distributed in which of th

8 3 oo w0 @ Fafa € 7 42 following regions ?
(1) e e - T | Eastern and - North Easter
(2) TEGHE TR * States RS- N

T % Ber | N (2) Peninsular ateau
® wﬁﬁtﬁ%n:gﬂ ke : g (8) Gujarat Plains
@ ily afa (4) Western Rajasthan
(5) aﬂﬂﬁ“m d5  (5) Question not attempted

143. %9 & 7@ ﬁ[ﬂﬁﬂﬂ ?Eﬁiﬁwl & ﬁﬁtil43 Which soil micro-organism

- fomRe 2

(1) TESfEw
(2) USHENEERR -
() HIHAE -
@ msaa‘m’lm
(6) IFFARaTE

144. Wi ¥ B9 @ el # deta w |
- - Rt Tea 36 T & ST ST R 7
(1) reft-Hum gend
@) P g
(3) weww e
(4) g gant
(6) Fiawg

145. mﬁﬁﬁmaﬁqqﬁﬁﬁqmc
: ﬁﬂmm%? = 1
(1) Fernm.
@ T
3) wﬂw
4) #éu;z
®6). 3‘33&33@;,

N o

- S
UU?J-S’.“:“.{.

£ g

g . |
:; (5)  Question not attempted

S145. Which of the followmg minerals

]

“responsible for: mtr:ﬁéatlon Y GRE
(1) Rhizobium x '
(2) Azotobacter ”
(3) Pseudomonas™

L{4) Nitrosomonas
(6) Question not attemkp_ted

144_! In India, which soils are popularl
known as swell-shrink shrink soils ?
L~ Black cotton soils -
- (2) Desert soils
(3) Laterite soils .
(4) Alluvial soils

considered ag natural source
boron ?

(1) Chalcocite
Tourmaline

(3) Pyrolusite

(4) Sphalerite

+*
30

®)  Question not attempted
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B
»
its
a 5011 18 1
B &t ey ey Y IHT | 146. The buffering capacity ? following * ?
R L k. = ability to which of tP¢ Om pH 111?"’n
m frem \_(1)>—T0 resist chang ~+ ges to SO
@ ™ ; SF ST 8 W E?J_th - additjon of acids °F E:e heat n
EHTREAFReFE | | o @ To absorb an
(@ T H W % amﬁﬁa UF" Wi e soil. trleﬂts ' from soil
S | < (3) To release nu
% 74 to plant. during
3) ﬁﬁ;ﬁﬁwmaﬁfﬁl@ml Oy To retain Soﬂ water |
(4) @ S N eI B e ; drought. stompted
(5) " g T : () Question not &
147,371 g 5Eeh R ] 147. Arka Nutan is a variety of
1) e (1) Bitter gourd: i
(2) e ' (2) Chillies
(3) TIX v (3) Tomato -
(4) SICA H ) Bottle gourd d
(5) SR ¥ | oo (6) Question not attempte
e - N : s to
TR : 148. The term ‘Pricking’ . belong
148. f‘s‘ﬁ% wﬁng-ﬂ@aﬁ 3 fre womadt | 148 e e the following ornamental
e % crops ?
(1) EERR s Y (1) Flowering ‘annuals ~ i
(2 THEE (2) Turfgrasses gl
233 el ‘ﬂ;}s 3 % Water plant :
4) 69 _[ait . Ornamental trees
(5) +* 3T ©!' (5) Question not attempted
149, PrefRea 3 & W @ afiie T‘T“"W 149. Which of the following refers' to the
TAFTEINF A A JMR@TFAH | 7 amount of moisture held by the soil
TR AR 2 after the excess- gravitational
Themged water has drained away ?
@ (1) Mmsture equivalent
2 g:iﬂ T (2) Wilting coefficient x
(3) &Hdar W Field capacity ok
(4) TTEURERIH 1 -(4) Hygroscopic coefficient ™
(5) orata T : (5) Question not att attempted
lﬁh; Frafafga ﬁ q H-ﬂ"T 1 Q'* 1 1 THT a? '1_5_9. Which of the following is an
: - example of 1 : 1 type.clay mineral ?
s ST lay m
) % : uisaciniie g X
22; SIORIE & (2 Vermlcuhte
s 4) Montmonllomte _
E:; B & | (5) Question not attempted
W .
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